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These questions are for use in the Virginia High School League’s Scholastic Bowl State Championships. Shawn Pickrell, Marian Suter, Adam Fine, Chris Moretti, Susan Gallaher, Ross Irwin, Jason Mueller and Fred Morlan are the authors of these questions. Pickrell, Fine and Suter edited the questions, with the assistance of John Harris, Don Remnant and Samer Ismail.

The following condition must be known by all coaches, competitors and spectators of the competition:

These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means.
First period: 15 tossups, worth 10 points

1.  This politician and former newspaper editor died two months after the Kingdom of Italy was founded in 1861. With his King, Victor Emmanuel II, and patriots such as Garibaldi, he set the stage for Italian unification. Who was this first Prime Minister of Italy?

ANSWER: Count Camillo di Cavour
2. 
Hemoglobin is a protein made of more than one polypeptide chain; how many polypeptide chains are in one hemoglobin molecule?

ANSWER: four
3.
For the formation of water from its constituent elements, it's C squared over A squared times B, where A, B, and C are the concentrations of hydrogen, oxygen, and water respectively. Name this constant, designated K, that characterizes reactions whose forward and reverse rates are equal. 

ANSWER: equilibrium constant (prompt on K or Keq)
4.  The Isan [ee-SAHN] dialect of this language is also considered a dialect of Lao. Its unique alphabet is descended from the Old Khmer alphabet. What is this language spoken by about 50 million people in cities such as Chiang Mai, Phuket [FOO-ket] and Bangkok?

ANSWER: Thai
5.  It is the second-largest Protestant denomination in the United States. It was formed in 1968 with a merger of the Evangelical United Brethren and the titular church. What is this church ultimately descended from the church established by John Wesley?

ANSWER: United Methodist Church (please prompt on "Methodist")

6.  Seventy percent of the Virginia tax on this item was phased out between 1998 and 2002. However a state budget crisis kept the tax alive, but this year state Republicans are seeking to end the tax. What is this high-ticket item whose tax Jim Gilmore fought as governor?

ANSWER: cars (accept car tax; accept equivalents)

7.
Correct the grammatical error in the following sentence:  Mrs. Adams, together with her two children, have taken up residence here.

ANSWER: change have to has or had (accept equivalents)

8.  The term comes from the Italian for "overloaded," and was first used in the seventeenth century. Giuseppe Acrimboldo created these from a collage of animals, fruit, and household objects. William Hogarth's The Rake's Progress and the theatrical work of Al Hirchfeld are examples of what artistic form, a satirical representation where a person's features are often grossly exaggerated?

ANSWER: caricatures

9.  This natural resource burns with an almost invisible flame and as such does not generate soot. What is this shiny, high-carbon variety of coal, found mostly in eastern Pennsylvania?

ANSWER: anthracite
10.  This island's highest point is the Yu Shan, which is over 13,000 feet high. Most of its 23 million people live along its western shores in cities such as Kao-hsiung [COW-shee-ung] and T'ai-chung. What is this island whose capital is Taipei?

ANSWER: Taiwan
11.  What trigonometric law is expressed as c2 = a2 + b2 - 2ab cos C [c squared equals a squared plus b squared minus two a b times the cosine of capital C], where a, b and c are the sides and capital C the angle opposite side c?

ANSWER: law of cosines
12.  During his re-election campaign, he was accused by his opponent's Vice-Presidential candidate of "leading the country down the path of socialism" and was assailed for taxing and spending too much. Most economists agree that his tightening of the money supply and his signing of the Smoot-Hawley tariff were mistakes. Who was this President who presided over the start of the Great Depression and was the loser of the 1932 election?

ANSWER: Herbert (Clark) Hoover
13. 
The phylum Chordata [kore-DAH-tuh] is marked by animals that have a living internal skeletal axis, in the form of this rod-like structure that extends the length of the body. It lies dorsal to the digestive system and is not to be confused with the backbone. What is it?

ANSWER: notochord
14.  Her works include Of Love and Shadows and The Infinite Plan. A letter to her grandfather evolved into her first novel, The House of the Spirits, in 1982. Name this magic realist writer whose uncle, the president of Chile, was assassinated in 1973.

ANSWER: Isabel Allende (uh-YEN-day)

15.  It is divided into an introduction, a conclusion and three chapters, titled Biology, Psychology and History. What is this 1949 feminist classic, written by the French philosopher Simone de Beauvoir [BOH-vwah]?

ANSWER: The Second Sex or Le Deuxième Sexe [luh DUH-zee-EM sex]

Second period, 10 directed questions per team, worth 10 points

Questions with an “A” after their number will be read to the team that selects set A of questions; questions with a “B” after their number will be read to the team that selects set B of questions.

1A.
Major Henry Wirz was the commander of what notorious Confederate prisoner-of-war camp where 13,000 Federal prisoners died?

ANSWER: Andersonville
1B.
What word, which comes from the French for “to join”, means an answer, especially in sharp response to a reply?

ANSWER: rejoinder
2A.
In ballet, what term denotes the jumping from one foot to the other, landing in a position such as an attitude or an arabesque?

ANSWER: jeté (zhuh-TAY)

2B.
The weber is a unit that measures what?

ANSWER: magnetic flux (accept variants; prompt on partial answers)

3A.
"There was a door to which I found no key" is a line from what 12th century work written by Persian Omar Khayyam [KIE-yam]?

ANSWER: Rubaiyat (“ruby yacht”)

3B.
Leon Klinghoffer was among the passengers killed when what cruise ship was hijacked by the Palestinian Liberation Front in 1985?

ANSWER: Achille Lauro [uh-KILL-ee LAW-roh]

4A.
William Nicholson discovered -- what process of separating elements in a compound that does not need heat as an input? It is often used to manufacture hydrogen, aluminum and lithium.

ANSWER: electrolysis [uh-lek-TRAH-luh-sis]

4B. 
THIS IS A COMPUTATION QUESTION. A total of 32 students are studying English, 55 are studying biology, and 41 are studying chemistry.  If 6 are studying both English and biology, 2 English and chemistry and 20 biology and chemistry, how many total students are there?

ANSWER: 100 (add 32, 55 and 41 --> 128, the total number of majors. Then take away 6, 2 and 20 to represent the double majors.)

5A. 
THIS IS A COMPUTATION QUESTION. One half the binomial x-3 equals one-sixth the binomial x+7.  What is the value of x?

ANSWER: 8 ( (x-3) / 2 = (x+7) / 6 --> 2x+14 = 6x-18 --> 14 = 4x-18 --> 32 = 4x --> 8 = x)

5B.
The World Economic Forum opened in late January. It is held in the city of Davos in what European nation?

ANSWER: Switzerland
6A.
What woman is credited with writing the nonfiction bestseller Witness: for the Prosecution of Scott Peterson?

ANSWER: Amber Frey
6B.
What name is given to the horn sounded by Heimdall for the last time to signal the beginning of the battle of Ragnarok?

ANSWER: Gjall (JALL) (or Gjallar or Gjallarhorn)

7A.
"Shoot if you must this old grey head / But spare your country's flag," was spoken by what title character of a John Greenleaf Whittier poem?

ANSWER: Barbara Frietchie 

7B.
What European royal family ruled Prussia from 1525 to 1871 and Germany from 1871 to 1918?

ANSWER: Hohenzollern [hoh-hen-TSAWL-lern]

8A.
What formula to determine the area of a triangle is stated A = SQRT (s (s - a) (s - b) (s - c)) [A equals the square root of s times the term s minus a times the term s minus b times the term s minus c], where s is the semiperimeter and a, b and c the sides?

ANSWER: Heron's or Hero’s formula

8B. 
THIS IS A COMPUTATION QUESTION. If there are no grouping symbols in the expression, what is "six minus seven divided by two plus four times eight minus two"?

ANSWER: 32.5 (6 - 7 / 2 + 4 * 8 - 2 --> 6 - 3.5 + 4 * 8 - 2 --> 6 - 3.5 + 32 - 2 --> 2.5 + 32 - 2 --> 34.5 - 2)

9A.
Who was the first Director of the Peace Corps and Vice-President on the 1972 Democratic Presidential ticket with George McGovern?

ANSWER: Robert Sargent Shriver, Junior

9B.
What is the family name of the American literary characters Winfield, Ruthie, Noah and Tom?

ANSWER: Joad
10A.
Which freshwater Cnidarian [nee-DAR-ee-un] has no medusa form, is about 12 millimeters long, usually has eight tentacles surrounding its mouth, and can move by somersaulting?

ANSWER: hydra
10B.
What is the name of the boundary between the Earth's crust and the mantle?

ANSWER: Moho or Mohorovicic [MOH-hoh-ROH-vee-CHICH] discontinuity

Third period, 15 toss-ups, worth 10 points
1.  This mountain range contains Hetch Hetchy Valley and Kings Canyon. Groves of giant sequoias are on its western slopes and at its southern end is Mount Whitney. What is this mountain range that contains Lake Tahoe and Yosemite Park and is along California's eastern border?

ANSWER: Sierra Nevada
2.  As a young kid, his little sister teased him with the chant, "Watergate, Watergate, Nixon's going to jail!"  His first word was "Money," and he grew up to be a staunch Republican, while his parents were former hippies.  A graduate of Leland University who dated Ellen and Lauren, who was this TV character, played for seven years on Family Ties by Michael J. Fox?

ANSWER: Alex P. Keaton 

3.  “She danced and she sparkled,” wrote Nathaniel Hawthorne about what character in The Scarlet Letter, the daughter of Hester Prynne?

ANSWER: Pearl 
4.  The A2 version of this rifle is being phased out by the US military and is being replaced by the XM-8 and M4 assault rifles. It was first introduced in Vietnam, where it initially gained a bad reputation for jamming at inopportune times. What is the military's designation for the AR-15 assault rifle made by Colt? 

ANSWER: M16 (accept AR-15 early)

5.
What company produces software such as Darwin, iLife, Final Cut Pro and Safari?

ANSWER: Apple Computer
6.  He was the first to observe muscle fibers, bacteria, the blood flow in capillaries and spermatozoa. Who is this Dutch scientist that did not invent the microscope but instead built an improved one?

ANSWER: Anton van Leeuwenhoek [LAY-ven-hook]

7.  An epic poem in eight sections, its main characters include Union spy Shippy, Richmond hotel employee Sophy, Georgia soldier Clay Wingate and Connecticut soldier Jack Ellyat. What is this work that won the 1929 Pulitzer Prize and was written by Stephen Vincent Benét (ben-a)?

ANSWER: John Brown's Body
8.  She is a secret agent of Cardinal Richelieu who plots the murder of the Duke of Buckingham. Who is this notable female villain in The Three Musketeers?

ANSWER: Madame de Winter (accept Milady)

9.  For most of this period of Japanese history, the Hojo clan held the real power. It started in 1185 when the Minamoto clan seized power and ended in 1333 when the Emperor was able to overthrow the Hojo clan. What was this first shogunate to rule Japan? 

ANSWER: Kamakura [kah-mah-KOO-rah]

10.  He dropped out of school at age 16, and worked as a mail boy at RCA Records.  He offered to pay Patrick Holt of the show "X Factor" 50,000 pounds if he recorded a #1 single, but Holt's song "50 Grand for Christmas" only reached #35.  Who is this 45-year old native of Brighton, England, usually the most critical of the three judges on "American Idol"?

ANSWER: Simon Cowell (accept either)

11.  THIS IS A COMPUTATION QUESTION. Z varies inversely to Y. If Y equals 1/3 when Z equals 12, then, if Y equals 8, what does Z equal?

ANSWER: 1/2 (12 * 1/3 = 4, so 8x = 4 --> x = 1/2)

12.
It currently contains $1.2 trillion of special government bonds that cannot be sold on the open market. At current tax and economic growth rates, its use will become a necessity by 2018, and by 2042, it would be emptied. The U.S. Treasury manages -- what object of much debate in the Social Security discussion?

ANSWER: the Social Security Trust Fund (prompt on "lockbox" or “Social Security”)

13.  This term is Latin for "He has declared upon oath." It is usually used to gather evidence from people who cannot testify in person, and must be witnessed by a taker of oaths. What is this term for a formal, written and sworn statement of fact that can be used as evidence?

ANSWER: affidavit
14. 
Though students are often impressed by the magnification power of a microscope, the quality of a microscope is determined by what quantity, the ability to distinguish nearby objects? 

ANSWER: resolving power or resolution
15.  It can mean a small, hard callus on the inner surface of a horse's foreleg; an old, frequently repeated joke, story or song; a deciduous tree with an edible nut in a prickly husk; or a color of moderate to deep reddish brown. What is this eight-letter word that is often roasted on an open fire?

ANSWER: chestnut
Spare questions 
Try to replace the question discarded with the spare question in a subject area – i.e. science for science, social studies for social studies, etc.) Be sure to mark off the questions as they are used.
1.  It is set in 1348 and the Black Death is raging. Seven ladies and three gentlemen meet in a church in Florence, Italy, and decide to escape from the city and spend time in the hills, where they pass the time by telling stories. This is the basis of what work by Boccaccio (boe-KOTCH-e-o)?

ANSWER: The Decameron
2.  Based on an 1847 melodrama and a 1973 play by Chris Bond, it was directed by Hal Prince, and opened at the Uris Theater in 1979. After the title character’s wife is kidnapped and raped by a judge, he begins a killing spree; his victims end up in the widow Lovett’s pies. Angela Lansbury originally starred as Lovett in what grotesque Stephen Sondheim musical about a murderous barber?

ANSWER: Sweeney Todd
3.  The account number and check number are two of the three numbers located on the bottom of a check. The third is what number, usually the left-most, used by the American Banking Association to determine the bank on which a check is drawn?

ANSWER: routing number

4.   Its equation is F equals minus k times x.  Name this law that relates applied force to the length of a spring.

ANSWER: Hooke's Law

5.  THIS IS A COMPUTATION QUESTION. What is 447 modulo 17?

ANSWER: 5 (modulo is the remainder, 17 * 26 = 442, and the remainder is thus 5)
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